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241 Which statemenl el is IreE \
(A A
& N I © clectromrs 1o 1 yi B
) Al I O 1 .
g - [} ol
25} The groasd \I.al(.d.lu.ll--r'-'l'\"“ aration of
A g ¥ ¥
A} 7 Falt ! A = i
y Ly 2l

2h) A7.7 g NI conlains v mya Yy aleins r
. i 4 {

My L2 10 Thl]

vl pesT

373 Which ol the following twn atams are i
)

'...‘ \|.|-|IJ|.

n _l and

2§) Which s not an jonie eompound?
Oy S0 Dy Albk

A) KCI By CaiNUK)

neganve SPUCICS

19) Covaleni bBomid formed i
Silive Specics interncts with an electrically
npound

A ) when an clectnica Iy pe

interact 1o formm & cOd

WCnis

B) when two n ynmetallic ¢l
icgative SpPocies interact

C) when fwo elects ically r
poSIUYE 5

pecics interact

D) when two electrically

¢ shared uncqually s called ___ ;
B) metllic C) nonpolar covalent D) ionic

30) A bond where the electrons ar
A) polar covalent

Good, Luck
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1 NLE
1l
1}
Wl i ) R
o B i 3 s sl
ia i I . i Vi o el maygen bn Ol 30030202
il i v
{ - ¢ erjualera
Wohai Mchont in placed s Bromt of ©s o compheie the balanging of e | Wlawing o
Cally kg LI izt
! | i 1 |
\
vivpm iy Bisdlsinn jg o oo dbim 2 Feis) = NClnig) } FeCly(s) View many meles of |
Fed Ly are obipined s bhen 4.6 mol of Cl3 reacts wilk eicess Fe? | ™
AY LOT m JTER Y Gl 8 } |
|
5) How maiy seodes of salbite are onatalned o 300 ml, of 0,50 M KOC)T \
\ {11 ] )10 2 6 i
W Camsbder the Todlowing «homical system at equilibriem N
—
Theat + 6 2O @ + 2 N2 () == i NHa gy + 302 |
Wik of ilhe follow ing siresses woublid shift the equilibriim to the fefr? || |
\ ) i peas | miration of C) incrensing the reaction 1 II
\
g the concentration of H20 D) decreasing the concentration of N3 \
|
@) Ceivem the Followiag reaction, the equilibriem expression will e
—
d Ol (5) = CHYy () ==

CH

A) 2
!

HACeOH

COr(n) +d Cuis) + 2H20 (g)
{MCO2[H202 C) [CuO¥Cu
D) [CO2][H20]2 NCH4)

11 How many lone pairs of electrons are in this Lewis structure shown here?

B) 4

C) 6

D) 8

0050 \




| CHEM 101 Quis-2 1" Semester 2015 = 1437

'
12) A Bronsted-Lowry acid is defined as a substance that
A} increases the [H* | concentration when placed in water

B) decreases the [H*] concentration when placed in waler

L) acts as a proton donor

D) scts as a proton acceplor
1.3) Which of the following is a weak weld?

A) HF B) H2504 ) HBr Dy HNO3

14) What is the [H30"] in & solution with [OH~] = 1.0 < 10-12 M?
A) 1.0 = 10-120 C)1.0= 102 M
B) LLo=108M D) 1.0 = 102 M

15) The empirical formula of a compound is CH3, and its molar mass is about 42.¢. What is l1s
molecular formula?

A) CH> 1) CoHy C)CiHg D) Callg ‘
16) What is the mass in gram of NaCl solution in a 0.500 L bottle of 2.00 M NaCI? |
A)29.3 g B) 58.5 g C)117g D) 234 g |

|
17) The substance NaOH in water solution Is a: |
A) noneclectrolyte B) weak electrolyte C) wenk base D) srong electrolyte

18) In the balanced redox reaction: 2 CyHg(g) + 7 O3(g) = 4 COy(g) + 6 H;0(g), which

species is reduced?
A) C:Hdlg) B) O:g) C) COug) D) HOg)

19) When an acid reacts with a base, the reaction is called which of the following?
A) neutralization B) precipitation C) redox D) single displacemer

20) Under which of the following conditions is the A-B bond considered to be lonic?
A) when A and B have the same electronegativity
B) when the clectronegativity difference between memma Lo
C) when the electronegativity difference between the two.
D) when the electronegativity difference between the two @

21) Which element is not an alkali metal? o
A) Li B) K C R

I¥/11/r+10
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the following stresses stresses would shift the equilibri
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B) increasing the concentration of H20

| 20) Giventhe ollowing reaction, the equilibrium express
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VL Oale- 2

V" Neinesier AR LEL

.
<4) Which SRaemoent below is ruwe®
A Me

VRS fam

CCinons i
C) Metals

QS lRCtnons to

vy A PRaiiivg ¢harge 1) Metals I.!"|1|"“
. o
DAVO @ POsitive § t"-"'t‘-‘ 1Y) Nonmeta

b ~ 1

<) The Rround state olectron contiguration of phosphos ||.~: L} \

) 182252204 306391 C) Na22x22p03x23p
‘ ’ -t 14 .13

R) i‘\'-\:y::::ﬂ 'v',\-l 1{IH! t\\ K d N : :,1(‘ e *!'
zh} ST - “.. » . . 2 W
= O R N contains how many atoms!

A) 6.13 x 1023 atoms

B) 5.92 x 1023

C) 347 = 1023 atomy

atoms 1) 1,24 x 1024 atom
27) Which of the following two atoms are isotopes?
) 12 13
A) 4“.-\r:md " Ca C) L Gand ST
IR 20 0O 0
0l and & 24 12
““Cland " Br ))  Mgand "°C
5) l."l - 33 D) 12 . 6

§) Which is not an ionic compound?
A) KCl B) ("ll(NO\‘); C) SO,

) Covalent bond formed .................

A) when an electrically positive species interacts with an
B) when two nonmetallic elements interact to form a con

C) when two electrically negative species interact
D) when two electrically positive species interact
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INSTRUCTION: <4 Please choose the BEST answer fﬁ:m ﬁre given options l’n_rm

Question:

What substance is oxidized in the following redox reaction?
Zn(s) + Cu2*(aqg) — Zn2*(ag) + Cu(s)

Options:

Zn

Zn2t

g 0

Cu




.

INSTRUCTION: < Ploase choose the BEST answer from the given options for each question.

Questhon:
What is the term for a family of unsaturated hydrocarbon compounds having a double bond?

Options:

O alkkynes
O aromatics

alkanes

© alkenes

Sl (o] Bl pi

IT/17/7+10




- Question:
The systematic name for the chemical compound RbCl is:

Options:

© rubidium monochlonde

@ rubidium(I) chlonde

& rubidium(11) chlonde
rubidium chlonde




aslall abd) bis )

The molar mass of H2SO4 1s equal to:
Options:

© 108 g/mol
© 98 g/mol
© 88 g/mol
77 g/mol

IF/17/r+10




INSTRUCTION: <A Ploase choose the BEST answaer from the gwven options for each m '

Question:
The carbon skeleton of an alkane is shown below. How many hydrogen atoms are

bonded to the carbon marked with a *?
C Cce
| |
C-0—C

#

C=C

Oplions:

- o N W




sl abd) bis )

: | (IC
= —— - l =T =

:! Question:

Whatis the common name for HC=CH?

Options:

© propyne

O ethene

© acetylene
ethylene

IF/171/T+10




_daladl dbhil hi> S L

| Question:
What is the empirical formula of the compound that has a composition by mass of
84.2% C and 15.8% H?

Options:

“ Cs4Hg
, CaHs
CasHuio

C:Hs




ailadl dbi) bi> 5l

Questio GRS N
- Which of the following is not a strong acid?

Options:

® HNO,

' HCl (aq)

H>S0q4

D HF




Laaladl dhsl bha> S,

.

INSTRUCTION: < Ploase choose the BEST answer from the given options for each question.

Questhon:
What is the term for a family of unsaturated hydrocarbon compounds having a double bond?

Options:

O alkkynes
O aromatics

alkanes

© alkenes

b (o] Gl p5

IT/17/7+10




sl abd) bis )

Which l:i the following is a Lewis acid?
~A) AlF. ™ S
bk 3

Ef..__n__T'." \
C) SiF, al. -~
By ;

L{WiL *’3"15(
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I b e
Dy '.h'. b
s - 3

1L of IM ey solution how many

A0 €)3.5L.
ByoL Dy25L,

3. Arrheuius acid is the substance that

A) gives H' in queous solution C) gives OH" in queous solution B
B) accepts Ol D) donates an electron pair 5
o S
4. In aparticular experiment ,if the theoretical yield of the reaction of is 4.0 g and the re
Produced 2.0 ¢ .The yield % would be ?
A) T4% B)
C) 50% D)

0
"

I¥/171/7+10




5. The

oxidation number of chlorine in HCl is 2

A) =1
Ry .2 T
I - D
b. » reacti )
In the reaction iFe + O; —-2Fe;046 .which species is oxidized ?
A Fe B) O;
( I-L I'l:
- Consider the following chemaical ¢ quation : NHy +OH < H,0 +NH; .vhich th
. : 3 oo

Statement is correct ?

NH, NI
NI, OH
OH 11-0
NI H-0O
e The molar ma | Ol
, Solution A is 2 molin 1 1 lution B is 3mol in 1L.Which solution has ahigher 1

(v of the solution cannot be calcul
tions have equal concentration .

). For the following reacting ,calculate the mass in gram of the product AR203
6 g of oxygen is consumed  4AI+30; — 2ALO; 7 (Al=27,0=16)

."\:IH-‘:; s ‘ :
C) 3.4g L) 0.4g

1T/17/F+ 10
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Non-metal g ol 9

The right side
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H+Cl=>HCl
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1 Al ) g3

e Ol Y e ) B

Sulfate ion , carbonate ion , hydrogen ion , ammonium ion
cailorbital © JS 8 b5 SV e i (all Jdisaeld e Ll ©
empirical formula J' ki &

C,104%H,27.5%0 62%

2 Aol S e Jn B

aaall adlai ¢ 43Ul e Jlen &



Nge ol sl e Jn S

aaall adlai ¢ 23ES)) e JI5u E

radius sionization energy 4 e G 5 5l Jstall A s A G4 e W 3 1S
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Ylbr - @b e &

metal 45Yl raliall e 516

FIC 5edssn©

o sl dae Aol cpans s e ) dasadll e 23 J) sl el aae o AIS) S &
&which one of the following is pure substance : diamond

P305 Sl e B
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weak acid by Jlsw (silxvk
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15- The atomic number of an element is

1) The number of protons in an atom

2) Equal to the positive charge of an atom's nucleus
3) Equal to the number of electrons in a neutral atom
4) All of the above are valid definition




20- A d sublevel can hold a maximum of

1) 2 electrons
2) 6 electrons
3) 10 electrons
4) 14 electrons
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Heterogeneous mixtures-4wilais e laallas

1- vegetable soup & chicken soup
(Llaa 4l - Tlas 45

2- water and sand ( Lige Z8 U1y )

3- pizza ( I3iu)

4- fruit salad ( S14d dals )

5- blood ( pall)

Homogeneous mixtures - <wilais bullss
1- water and sugar [ sugar In tea
(Slall b Sl U o8 <ol )

2-air ( «lsedl)

3- Mouthwash ( adll Jgeus )

4- blood plasma ( pas duce )

5- abbott of vinegar ( Ja )
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A Boiling point in water is 100c
property.
A When there's any "ability" in the
question ( toxicity, Acidity..etc) a
property.
A there will be many questions about 1s,
2S,2p,...etc.
A salt + water is mixture ( NOT pure
substance ).
A (< sl <1 Bd N=7, N2=14.
A Metal in acid gd chemical change.









Question No. S

ich of the following 1S @ chemical change’

- | = ¥

burning natural gas
melting ice

CULNg paper

cutting a tomato




Question No. 8
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MKCL OES

Question No. 7

YWhich of the followinio ies 3 nronerhe nf bt calide =5 | ;
YWhich of the followi; Ig IS 3 r-'“—'F—'E"T.'-" or Both solids and !!E}LJIQS?

definite sha

il
™
LT

indefinite shape

indefinite volume

definite volume




cQuestion No. 6

A decimeter equals.

1m
1000 mm

10 m

14 cm
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MKCL CJES

Question No. 3

Which one of the following is homogeneous mixture?

1 Alloys.
) Noodles soup.
) Vegetable salad.

Sand in water.



Question No. 5

Salt water is classified as

O pure substance-element

O mixture-homogeneous
o
O pure substance-compound

- © mixture-heterogeneous

Save & Next i, L,




question No. 25




question No. 21

0100 mole of Ihium WeillL




Question No. 23

Where IS most of the mass of an atom concentrated”

) nuclkeus
neutrons
electrons

protons




MKCL OES

Chemistry_Quiz1_Se

Question No. 13

WwWhen filling orbitals that have same energy with electrons, fill them singly first, with paraliel spins, is known as

& Aufbau principle.

) Heisenberg uncertainty principle
() Pauli exclusion principle.
Hund's rule.




MKCL OES

Chemistry_Quiz1_Se

GQuestion No. 22

The molecular formula of aspirin is CoHsO4. How many aspirin molecules are present
in one 500-milligram tablet?

' 1.67 % 10 molecules
1.67 » 10! molecules

2.77 molecules

' 2.97 = 102 molecules

' Save & Next il ki




MKCL OES Chemistry_Qui

Question No. 22

The molecular formula of aspirin is CsHgOs. How many aspirin molecules are present
in one 500-milligram tablet?

' 1.67 » 10** molecules
1.67 = 104 molecules
2.77 molecules

2.77 = 10-° molecules
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' Question No. 24

" Which of these elements has the highest electron affinity?

R

 Rubidium
) Cesium
) Lithium
 Potassium



Question Mo, 12

When fing cotals that haye same enes

0 Auttyay prncipke

g HESENDETY unceranty prncipie
@ Paull excusion prnciple

) Hund's ruke

Fa
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y with electrons, Il themn sngly fiest, wilhi pavaie; sps
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Question No. 4

eterodenenus midure from the list below
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mlh,ﬂ

Which of the following has the greatest number of n-nnb-nndhg palrs of electrons?




Question No, 11

vwhich statement DEOW accurately des roes the contributions of Th L

» Ancient Greek P















l::luestmh No, 3

Which gf the fu.'ua'.-nrlq i5 an EXampie of 5 r]E'.fL'-frr‘.'gl.'_‘ri[:‘f:'f_rE Mixtures
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MKCL OES

Question No_. 5

How many inches are in 25 & cme [ Vin =254 ¢m)

.....

2 D098



Question No. 21

0.100 mole of lithium welghs




Question No. 12

What is the alomic symbol fo Silicon?



| Questjon No. 1

What volume of the SOlulion has 5

i3 55 0O B )
@ 0.00253 ;.
19 4 mi

o8 A mi

451 mi




Question No. .

A solution has a density of 1.22 gimi

0.00253 mL
& 49.4 mi
58.8 mL

39.5 mL

What volume of the solutic

n has a mass ol 482 Q7






MKCL OES

Question No. 7

The state of Matter that has fixed Valume

- and unfixed shape IS called?

I
plasma
S0l

gas



Question No. 4

Which of the following items = d Mixture?

" fable sap

' Cereal ang milk
' baking soqs
' SUlfur



Question No. 10

wWhat is the value of 335 K on the Lelsius temper

Braross od | = )
dillfe SCae’y
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guestion No. 11

oneg EH'!I'I'IEH': thal has 2

J thar
S
a NArGgen

carnon
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guestion No. T

which of the following 15 4 chemical change’

& Durming natural gas

culting pape!
cutting 2 tomati

meling i &

HP C
ompog LEI7)}



step in forming the modern atomic theory was done by:
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magnesum
Ay mEnum
enefium
phospnorus
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Guestion No. 24
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Question No. 24

Which of these elements has the lowest electron affinity?
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Question No. 22

How many moles of (NH4)28 are therein 75 g of (NH4)2S57

@ 1.5
@ 1.04
@ 1.56
2 1.1
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qQuestion No. 19

Which of these elements has th

Rubidium
Potassium
Lithium
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e highest electron affinity”?
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question No. 19
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O (0,533 mol, 385 =10 gtoims
L M
1.87 mol, 1.13 * 10" atoms
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question No. 14
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question No, 13
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question NO- [
4 chemical change?

which of In€ following 15
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~ Question No. 2

fi In a solution, the solvent is

O always water
O the substance he

® always a liquid
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. Question:
 Which of the following is a heterogeneous mixture?

Options:

@ pure water

@ tap water

@ gasoline

@ ice and water
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Questmn:
' Which of the following is a physical process?

| Options:

| ® the explosion of nitroglycenn
.~ ® the baking of a potato
@ the rusting of iron
@ the condensation of water vapor




